Potencias de 10 (H)

Calcule los siguientes productos y cocientes.

56+-0,1

20,1

27 x0,1

11+0,1

93 =-1000

4x0,1

46 x 0,001

60 x 100

860,01

76100

31 x 10

840,01

2 % 0,001

21 x 1000

99 =10

3100

57100

131

190,001

66 = 1000
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Potencias de 10 (H) Respuestas

Calcule los siguientes productos y cocientes.

560, 1
560
2+0,1
20
27 % 0,1
2.7
11+0,1
110
93 =+ 1000
0,093
4%0,1
0,4
46 x 0,001
0,046

60 x 100
6.000
86+ 0,01
8.600
76+ 100
0,76

31 x10
310
840,01
8.400

2 % 0,001
0,002

21 x 1000
21.000
99 =10

9,9
3100
0,03
57100
0,57
13+1
13

190,001
19.000

66 + 1000
0,066
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